Onivn DA NXXIN

1.| 5x* +15x = 11.| 36y°x—42x°y =

2.| 2xy-4x" = 12| 24xy* +12x°y? =

3.| 12xy +27xy® = 13.| 8tz -48t°z+16 =

4.| -6t +t?z = 14. | t*z+t3x-t’p =

5.| 10a+30ab+45 = 15. | 2x—yx+yx* =

6.| 2+14ab—-8b+10a= 16.| 9z2+222 +7® +52* =

7.| 18—-39a+45t+3a= 17.| -16x*+572> -3 =

8.| 28kn+49k +63 = 18.| a’b* —a'b® =

9.| t2-t*= 19.| 10x°z -6z +14xz* -3 =
10.| y°+y* = 20. | 169a’b® + 26a%b —39a° =
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NRIYN - QNIYN DA NXXIN

1.| 5x* +15x = 5x(x +3) 11. | 36y°x—42x°y = 6xy(6y* —7x%)
2. 2xy —4x® =2x(y - 2x) 12. | 24xy* +12x%y* =12xy(2y* + x°y)
3.| 12xy +27xy? =3xy(4 +9y) 13, :z(; fzt:)i +1 26 =8(tz - 6t22+2)/
4. —6t° +t’z =t*(-6t+2) 14. | t*z+x—t?p =t?(t?z +tx— p)
5.| 10a+30ab+45 = 5(2a+6ab+9) 15, Z:i;(;_}’f) =X(2-y+yx)/
6.| 2+14ab—8b+10a =2(1+7ab—4b+5a) 16. | 92+272° +7° +52* = 2(9+ 2z + 2° +57°)
7 18 -39a + 45t + 3a =18 —36a + 45t = 3(6 —12a + 15t) 17. | _16x2 +522 —3 = —16x% +522 -3
8.| 28kn+49k +63 =7k(4n+7)+63/7(4kn + 7k +9) 18. | a’b* —a’b® =a’b’(b-a)
o.| €t —e@-1 1o, 10x°z — 62 +14xz° —3 = 2xz(5x + 7z) — 3(1+ 22) /
27(5x* -3+7xz)-3
10|y +y® = yP(y? +1) 20. 169a*b® + 26a°b —39a° =13a’(13a’b° +2b—3a)
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(0 — 7 n'uv X7 0'M7YINY NNINA) DIXNNI VIY'S — 0'MA27X DAY

3 2
1, | Axx2d 16, | A2 +ra
4 18a% + 3a
2. | 2X=25_ 17, | 71
5 t° -1
2_
g | 12+4x_ 18 | X4 _
8 X+2
3x+9 y+3
4. = 19. =
3 9 y>+9
— 2
5 21x 35: 20. 144 — x _
28 X+12
2 3y+15
6 | 0a+ta _ 21, | Y
10a y--25
12y* + 4 2 _
A =i 20 | 2 100 _
16y 9a+90
2 _ 2
8. 5x +15x: 23, 16 — 36x _
5x 32— 48x
_ 2
9 2x _ o4 121-169x _
2Xx° —7X 22 + 26X
11x -x3
10. | oo = o5, | X=X _
22x° +11x X+3
9y? +9 s _
11, | X5V 0. | 982 —8a _
4y +4 7a-2
2 . 3
12. 1232—+7a: 27 M:
7a° —9a 45k* — 36k
2 2
13, 10x +20>2<: o8, X +4x+4:
30x —40x X+2
2 . 2
14, 14x +8x: 29, 24X +16 + 9x _
28x+16 3x—-4
8y® — 20y (2x+2)
15. | ——= 30. | ———— =
10y -25 x+1
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4x+24 4Ax 24

1. +—=X+6
4 4 4
2 | R X By g
5 5 5
3 12+4x  4(38+x) 3+X
' 8 8 2
4, 3XJFQ:%+9:X+3
3 3 3
s | 21x-35 _7(3x-5)_3x-5
' 28 28 4
6. | 0ata’ 10a a _, a
' 10a  10a 10a 10
. 12y? +4y  4y(By+1) 3y+1
' 16y 16y 4
2 2
8. Sx +15x +15X:51+15—X:x+3
5x 5x  5X
9 X x 1
T 2x®=7x  x(2x-7) 2x-7
0 1x  1x 1
Tl 22%% +11x 11x(2x+1)  2x+1
11 | A9y _9y(y+D 9y ,1
T 4y+4 Ay+) 4 4
12 12a° +7a _a(l2a+7) 12a+7
" | 7a®-9a a(7a-9) 7a-9
13 10x* +20x _ 10X(X+2)  x+2
" | 30x-40x* 10x(3-4x) 3-4x
1 14x° +8x _ 2x(7x+4) _x
C | 28x+16  4(7Tx+4) 2
15 | 8Y =20y 4y@y-5) 4y

10y-25 5(2y-5) 5
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(Qwna) niIvn -ni¥nyi VIY'S — 0'"MAA7X DNAY

42a° +7a® _7a*(6a+l) 7a 1

16. 3 = 2=a
18a“ +3a 3a(6a+l) 3 3
t-1 t-1 1
17. | 5—= =——
t°-1 (t-D(t+) t+1
2 _ 2)(x-2
18 | X4 _(x+2)x=2)
X+2 X+2
19 y+3 _ y+3
T YyP+9  y*49
—x2 12 -x)(12
20. 144 - x :( X)( +X):12_x
X+12 X+12
1 3y+15  3(y+5) 3
| y*-25 (y+5)(y-5) y-5
- a®-100 (a+10)(a-10) a-10
" | 9a+90 9(a+10) 9
g | 16-36X _4(4-9x")  4-9x" _(2-3x)(2+3%) (2-3%)(2+3%) _2+3x
" | 32-48x 8(4-6x) 2(4-6X) 8 -12x 4(2 -3x) 4
oq. | 121-169%" (11-13x)(11+13x) 11-13x
' 22+26x  2(11+13x) 2
o5 9x — X :x(9 x):x(3 X)(3+X):x(3—x)
X+3 X+3 X+3
3 _ 2 _
26. 98a 8a:2a(49a 4):2a(7a 2)(7a+2):2a(7a+2):14a2+4a
7a—-2 7a—-2 Ta—-2
07 | 48K+ 75k®  3k(-16+25k?)  3k(5k —4)(5k +4) 3k(Sk+4) 5k +4
" | 45k*-36k 9k(5k —4) 9k(5k —4) 9k 3
2 2)?
28. X +4x+4:(X+ ) w42
X+2 X+2
- 2 (3x-4)
g, | ~28x+16+9x° _(3x-4) I
3x-4 3x—-4
2 2 2 2
30. (2x+2) :4x +8x+4:4(x +2x+1):4(x+1) Axia

X+1 X+1 X+1 X+1
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1.| 21+ 7x-3+2x = 11. | (5x+2)(x-3) =

2.| 11la-11-a+1= 12.| (10a—-10)(b+4)(a-5)=
3.| 5x+10y—-6x—-6Yy = 13.| -5p(—4p+k)—(kp+ p*) =
4.| 8a+b+a—-9= 14.| 25y +7)(y+7)-10y* =
5. 3% +y+7x* -5y = 15. | t-D(x+6)(t+2)=

6.| 5z+7—-Xx+z-7x= 16. p+g+4+%=

7. 9% +10x*y* + x*y* +2x% = 17. (lia—aj——+a—9=

8. | —xy+x2y—7xy+xy*= 18. %+37?+27b—

9.| 10p+5pz-3p+12pz = 19. (5+y)+—(1+3)’):

5 5

10.| (-2+y)(y+5)-3y = 20, | 22 J;y+4) - (3;)() =
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(5% +2)(x—3) =5x* —15x+2x -6 =

1.] 21+7x—-3+2x=18+9x 11.
5x* -13x -6
(10a-10)(b+4)(a-5) =
(10ab + 40a -10b - 40)(a-5) =
2.| 11a-11-a+1=10a-10 12.
10a’b + 40a® —10ab — 40a — 50ab — 200a + 50b + 200 =
10a’b + 40a® — 60ab — 240a + 50b + 200
—5p(-4p+k)—(kp+ p?) =20p? —5kp—kp — p? =
3.| 5x+10y—-6x—6y=4y—X 13. PCAp+k)=(kp+p7) P P=iP=Pp
19p® —6kp
—2(5y+7)(y+7)-10y? =-2(5y? +35y+ 7y +49)-10y® =
4.| 8a+b+a-9=9a-8b 14. By +7)y+7) y (y yrry ) y
—20y? -84y -98
(t-D(x+6)(t+2)=(tx+6t—x—6)(t+2) =
5. 3xX* +y+7x* -5y =10x* -4y 15. | t2x+6t2 — xt — 6t + 2xt +12t — 2x —12 =
t?X + 6t + xt + 6t —2x —12
3
6.| 52+7—X+2—-7Xx=62+7—-8x 16. D+§+4+%—?p+5
(1%a—a)——+a—9———1+a— =
7.1 92 +10x*y* + x*y* +2x% =11x¢% +11x*y* | 17.
3a 1
2% _9=
2 2
b 3a 2b 3b+3a
8.| Xy +xXy—Txy+xy’ =xy+xy’—8 18. | —+—+=—=
Xy + XY = /Xy + Xy Y+ Xy Xy 2 22 2
9.| 10p+5pz—-3p+12pz=7p+17pz 19. (5+y)+—(1+3y):4—2y
5 5 5
-2+ +5)-3y= - 3-X) —x—-v-—
0. (=2+y)(y+5)-3y 0. @x+y+4) ( ): X—y—7

-2y-10+y? +5y-3y=y*-10

y y y
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0'M227X DNAX v 110'ni AN

y-8 y+4
1.| =+== 11. _2y 7y
2| L+ Lo P
6 18 X 2X
3| B2 1386 -
5 6 4x
4. CIAN) 14. E+i:
3 8 X X+2
+2 1-
5. ﬂ+x: 15. yre oy,
5 1+y y-1
6 10_ﬂ: 16. 1+k _—3k+1:
6 -8+7k 8-7k
7 X+2 X _ 17 —2x+10+9x+9:
2 5 2Xx+8  3x+12
8 4x—5_x+1: 18, 4x+8_2x+5:
6 2 10x-5 6x-3
9 2X+y _2y—-X_ 19. 26 +_3 =
4 2 Xx“-1 x+1
2
10, 31 a+4_ o0 | &4 __a _
3a 2a a’-4 a-2
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X X 7x 2x 9X
1| =+==—+—=—
2 7 14 14 14
2_ X+l:ﬂ+l:ﬂ:ﬂ
6 18 18 18 18 9
‘|5 6 30 30 30 15
4 | 2y _5y_40y 15y 25y , 1
‘|3 8 24 24 24 24
5. ﬂ X:ﬂ_kg:%:lﬂx
5 5 5 5 5
6. 10- 10 X_20°X
6 2 2
X+2 X 5(x+2) 2x 5x+10+2x 7x+10 7x 10 7x
7.| —+=—=——""+—= = =—4+—=—+
2 5 10 10 10 10 10 10 10
8 4x-5 x+1_ 4x-5 3(x+1) 4x-5 3x+3 _4x-5-(3x+3) _4x-5-3x-3 _x-8
|6 2 6 6 6 6 6 - 6 -6
2X+Yy 2y—X_2X+Yy 2(2y-X) _2X+y—-(4y-2X) _ 2Xx+y—-4y+2x _4x-3y _
9 4 2 4 4 4 4 4
| Ax_ 3y, 3y
4 4 4
10. a+1+a+4:2(a+1)+3(a+4):2a+2+3a+12:5a+14_5a 14:§ 2}

=—+— +
3a 2a 6a 6a 6a 6a 6a 6a 6 3
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(Qwnn) nnIvn — 027X DNax Y 1ol AN

y-8 y+4 7(y-8) 2(y+4) 7y-56-(2y+8) 7y-56-2y-8 5y-64

11 2y 7y 14y 14y 14y 14y 14y
2. | 2_L1_20-X
X° 2x  2X
6 3 6x°-3
3-—=3-——=—-—
13. 4x* 2x2 2x?
1 2 X+2+2x 2+3X
14. —+ = ==
X X+2 X(X+2) x°+2x
y+2 1oy (y+2)(y-9-(1-y)(+y) _(y+2)(y-9-0-y) _(y+2)(y-1) -L+y* _
15 1+y y-1 y> -1 y* -1 (y+1)(y-1) y*-1
y+2) 4
(y+3)
16 1+k  3k+1_  1+k 3k+1 -(1+k)-(=3k+D) -1-k+3k-1_-2+2k
' -8+7k 8-7k 8-7k 8-7k 8-7k 8-7k 8-7k
—2x+10+ 9%x+9 _2(—x+5)+ 9(x+1) _—x+5+3(x+1)_—x+5+3x+3_2x+8_2(x+4)_2
17. 2x+8 3x+12 2(x+4) 3(x+4) x+4 X+4 X+4 X+4 X+4
4x+8 2x+5 4(x+2) 2x+5 12(x+2)-5(2x+5) 12x+24-10x-25  2x-1 1
18. | 10x-5 6x-3 5(2x-1) 3(2x-1) 15(2x —1) B 15(2x —1) S 15(2x-1) 15
19 6 3 _ 6 N 3(x-1)  6+43x-3  3+43x  3(x+1) 3
' x> -1 x+1 (x+1)(x-1) (x+1)(x-1) (x+1)(x-1) (x+1)(x-1) (x+1)(x-1) x-1
20 a’+4 a a’+4 a(a+2) a’+4-a’-2a_  -2@-2) 2

a?-4 a-2 (a+2)(a-2) (a+2)(a-2) (a+2)(a-2) (a+2)(a-2) a+2
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